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G2 e K HALAT HAfiff BHE ik
A |EHE TR 1] K 28,051,346
B [Bhisfax# (A L kb & de) 1] K 1,247,778
C |Hi e 1] =K 6,651,248
D | —xEHE 1] =K 4,813,754
=i 40,764,126
e fifi A TH AR IV T 40,764,000
TH B R O 5 ¥ 2 B 4,076,400
i Et (L) 44,840,400
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L Mz HE BANT A G| ik
A |EETEE
I 218 28 1] K 5,517,629
M |26fH 1p5~4afpk 1] = 20,068,370
I [274 1P 1] K 1,150,076
IV 3948 1p& 1] = 1,315,271
& 28,051,346
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i i $oE HANT A SHE e
[ B LGB £t 214
1 (2] = 5,517,629
ot 5,517,629
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L L HE BT A G RE e
1 | L CGE LR 2148
1. FA K E% I L5 2 = 620,587
2. PE/KB &R I L 2 = 1,652,598
3. f A g Bk Ok = 2,490,690
4. BASGER I L 2 = 159,364
5. kT HE ok = 594,390
&t 5,517,629
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EXik e B AL HiAfh &% fii %
I Bk I L3 (55 £ P 2648)
1|1 S 4,939,587
2 |opE 1 = 5,022,121
3 |3pE S 5,053,331
4 |4pk 1 = 5,053,331
B 20,068,370
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L L HE BT A G RE e
1 | B LG L 2R 2645
1. FA K E% I L5 1P = 568,647
2. PE/KB &R I L 1 = 1,357,983
3. f A g Bk 1 = 2,174,690
4. BASGER I L 1 = 159,364
5. kT HE [ = 678,903
&t 4,939,587
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L e HE BANT A G| ik
2 |BEARER IR LR L 264%)
1. FA K E% I L5 2 = 590,524
2. PE/KB &R I L 2 = 1,556,856
3. f A g Bk 2] = 2,174,690
4. BASGER I L 2 = 159,364
5. kT HE Ok = 540,687
& 5,022,121
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L L HE BT A G RE e
3 [BEARER IR LR L 264%)
1. FA K E% I L5 S = 596,071
2. PE/KB &R I L S = 1,559,418
3. f A g Bk 3P = 2,174,690
4. BASGER I L S = 159,364
5. kT HE 3 = 563,788
&t 5,053,331
g E I T P. 8




THA TSR E RSB A L S e T3 (B fi T )

G2L) 15 2L B BT HLfff Xl i %
4 | BhER IR L CGR i 26180
1. A /KSR fif L5 ARE 1] KX 596,071
2. PEAK A KGR L5 ARE 1] K 1,559,418
3. fi A v B aR i Lo ApE 1] KX 2,174,690
4. H R A L ARE 1] K 159,364
5. ik T ApE 1] KX 563,788
et 5,053,331
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i i B HANT A GKA e
I | Bk % i TG L a2 2780
1 |1 2V 1,150,076
ot 1,150,076
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4 B S B BT HLfff Xl i %
1 |BARGER i TR B i 27400
1. A /KSR fif L5 18 1| X 96,672
2. PEAK A KGR L5 10 1] K 210,996
3. fi A v B aR i Lo 18 1| X 617,260
4. H R A L 10 1] K 79,682
5. ik T 18 1| X 145,466
et 1,150,076
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i i B HANT A GKA e
IV [t L (B L 5 3980
1 1B 2V 1,315,271
ot 1,315,271
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L L HE BT A G RE e
1 |B¥kax i LG £ AR 3988
1. FA K E% I L5 1P = 53,368
2. PE/KB &R I L 1 = 202,447
3. f A g Bk 1 = 846,760
4. BASGER I L 1 = 103,525
5. kT HE [ = 109,171
&t 1,315,271
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